
Bargello Baby Wave Stitch Blanket
Designed by Michael Sellick - ©2024 The Crochet Crowd

Yarn

Red Heart Super Saver Ombre, 283 g/10 oz, 440 meters/482 yards.

A - Blue Tiful - 3 Balls

Red Heart Super Saver Jumbo, 396 g/14 oz, 681 meters/744 yards

B - 1 Ball

Abbreviations

● Approx = Approximately
● Beg = Begin(ning)
● Ch = Chain(s)
● Dc = Double crochet
● Dcfp = Double Crochet Front Post
● Hdc = Half Double Crochet
● Pat = Pattern
● Rep = Repeat
● RS = Right side
● Sl st = Slip stitch
● St(s) = Stitch(es)
● X-st = Sk next st, dc in next st, dc in skipped st.



Mikey's blanket is shorter on the starting chain to accommodate baby blanket size. The stitch
multiple is 53 chains + 2 if you want to change the size. Each multiple is 8" in width.

Hook = 4.5 mm / US 7

Gauge = 14 sc and 16 rows = 4” [10 cm]

Size: 40” x 44” long.

Notes:

● Chain 2 counts as a space in the future rows. See the diagram above for location.
Row 3 is provided on the diagram to better illustration what the stitchwork directions
are in both directions.

● On the diagram, I nearly missed the skipped chain on the original sample. On my
diagram above, I put the skipped chain for the 1st row in red to call attention to it. I
have bold those instructions below to ensure you don't miss it.

● Each ombre section is almost one full ball. Start a fresh ball each time you do this
section.

With A, ch 267.

1st row: (RS). 1 dc in 4th ch from hook. 1 dc in each of next 2 ch. Ch 2. Sl st in next ch.
*Skip next 3 ch. 1 dc in each of next 3 ch. Ch 2. Sl st in next ch. Skip next 3 ch. 1 dc in each
of next 2 ch. Ch 2. Sl st in next ch. Skip next 3 ch. 1 dc in next ch. Ch 2. Slip st in next ch.
Skip next 3 ch. (1 dc in next ch. Skip next 2 ch. Sl st in next ch. Ch 2. Skip next ch) twice. 1
dc in each of next 2 ch. Skip next 2 ch. Sl st in next ch. Ch 2. Skip next ch. 1 dc in each of
next 3 ch. Skip next 2 ch. Sl st in next ch. Ch 2. Skip next ch. *** 1 dc in each of next 8 ch.
Ch 2. Sl st in next ch. ** Rep from * to ** 2 times more, then from * to *** once. 1 dc in each
of last 4 ch. Turn.

2nd row: Ch 1 (does not count as a st). 1 hdc in first st. 1 dcfp in each of next 3 sts. Ch 2. Sl
st into ch-2 sp. *1 dcfp around next 3 sts. Ch 3. Sl st into ch-2 sp. 1 dcfp around next 2 sts.
Ch 3. Sl st into ch-2 sp. 1 dcfp around next st. Ch 3. Sl st into ch-2 sp. 1 dcfp around next st.
Sl st into ch-2 sp. Ch 3. 1 dcfp in next st. Sl st into ch-2 sp. Ch 3. 1 dcfp in each of next 2 st.
Sl st into ch-2 sp. Ch 3. 1 dcfp in each of next 3 sts. Sl st into ch-2 sp. Ch 3. ***X-st over the
next 8 sts. Ch 3. Sl st into ch-2 sp. ** Rep from * to ** 2 times more, then to *** once. 1 dcfp
around next 3 sts, 1 hdc in last st. Turn.

Rep 2nd row to the blanket is done. First two rows count as the colour breakdown below.

Colour A - 22 rows.

Colour B - 20 rows.

Colour A - 22 rows.

Colour B - 20 rows.

Colour A - 22 rows.




